Test Name : STATISTICS/STATISTICS (QR & OR)
Time : 90 minutes : : ‘ l : Maxihum : 100 marks
Answer ALL questions.

Each question carries ONE mark.

1. Ifeach value of a series is multiplied by 10, the median of the coded values is:
25RAS’ (58 de0Bi0 10 & KHefodn TR Do KBH devd
(a) Not affected
Salelnt
" (b) 10 times the original median value
DD DOE5HS DD 5&3’5_&}3
(¢) One—tenth of the original median value
2D é)fééﬁézﬁ»eis DD Dotk
(d) Increased by 10
S8 VBN

2.  The correct relationship between A.M, G.M and H.M is
' AM, G.M 8c50 HM o ;’).)655 PAYBDR DOWOEHI0

(a) AM=GM=HM (b) GM=AM=> HM
(¢0 HM=>=GM >2AM d AM=GM=HM

3. The first quartile divides a frequency distribution in the ratio
Méé’ééﬁ)go‘-égm @8 DPRYRY DLW D20 A ;

(@ 4:1 ' : _ b) 1:4
(e 3:1 (d 1:3
4.  If the quartile deviation of a series is 60, the mean deviation of this series is:
25 B DETEOTS HHedA0 60 0B, &0 B DEF VOB
@ 72 s v
() 50 (d 75

5.  The limits for Karl Pearson’s coefficient of skewness are: -
5°BA08)S @RmHD KeasH Gk, eHge

) P = BEa (b) Otol
ley-=i+3 (d)d Oto3



10.

(a)

If two events A and B are such that A c B and B c A, the relation between
P(A) and P(B)is

A 58050 B B0tk soesroond A c B 58a5» Bc A P(A) $9805» P(B) 208y
502085000 i

(a) P(A)<P(B) () P(A)=P(B)
(c) P(A) = P(B ) (d) None of the above
2 D 57

If K toffees are distributed at random among n children, the probability that a
child will receive exactly r toffees is: . :

n e K 39560 oﬁocﬁo)aago'm $5008, 2.8 2008 r TEey 0PGRS Sogrdg

Nons k-r
@ KG-D AR
n k
KC (n-1) ' K C (1) "
@ HGeU @ S

A number is selected raI;domly from each of the two sets
55 1808 Dot BWBOS® D VWS H0D a8 Sogy AIrEyDYESVT SET0E, &

H0g50 B0BRN 9 D8 Sogrdgd

1.2,3,4,5.6.7,8

2,3,4,5,6,7,8,9

the probability that the sum of the numbers is equal to 9 is
8 7
2220 B) o e

(a) 91 (b) 72
14 . 7

() 5 (d) =

In tossing 3 coins at a time, the probability 6f getting atmost one head is:
B0 TPERE00R0 288 NS DDHS®, 0IS" KD & 7Y D) DogrHgd

(b
(c)

bo | — oo |
|~ co|=a

(d)

Find the value of k such that the following is a probability mass function
s 1808 AIGEDB Bogrdg® Lééé TR0 a5H00:) eaéiaéeomn“ Kk e L50R7H050

fats iac s
p(x): 0 & 2k 3k
e B
2 3
1 1
(c) = (d) =



11.

12.

13.

14.

15.

16.

Probability of having a card from a pack of cards that has a. numbe1 in red 1is
app1 oximately

28 DE 2050 Sy 09 a8 YR SIITPE & S0, Y oK SBAL
@035 SOR 0506 BogTgh Jos?

(a) 0.346 - (b) 0.50
(c) -0.692 (d) None of the above
DD 5°)

Mode is a measure of central tendency which mainly describes
2PTROPER0 @K1 BoBaH 5y HIDHEID Doogigoont BAD HHBoBD

(a) Standard behaviour (b) Abnormal behaviour
xS D98 FDIR (DDTD

(¢) Trend of the times (d) Central behaviour
SO0 B¥); S So|B0 (HH8

The ordinate value at 2 = 0 of a standard normal distribution is
PO S0 et Dok z = 0 S BAA%H DEITTIEID Jewd
(@ 1 (b) 0.3989

() 05 @y o s

If X and Y are independent random variables then the correlation coefficient
between them is equal to

X 508050 Y &0 3580 HoTrRieons ; Hed :ﬁoc;ﬁac)fie) DTPD0V0E MHREID ey -

(a) +1- (b)y -1
© 0 @ 0.5

: 1Py . .
The mean and variance of f(x)= e *Zfor x> 0are given by

-

L : o
flx)= 5° x> 0 GRog), D065 HoBAL D yBoed

@@l 2e) ® (214
© (1/2,1/4) @ (2 4)

If X is standard normal variate,l then éXéis a Gamma variate with
parametels

X ed8 a»mnzsé H00°8 @09’ X- OB AT ST H08okw B Bk,
QT BN _ A

»

1 o}
(a) 1}5 (b) ?2':]-
131
(c) 27y (d) - 11



18.

E(Y/X=X)is called is
E(Y X = X) % &9 DIDS6

(a) Regression curve of X on W - (b) Regression curve of Yon X
Y p9 X B, (SN0 0. X 2 Y G008y, BSKH00 D)
(c) Both(a) and (b) : - d) Neither (a) nor (b)
(a) S0B805» (b) - (a) 5°¢0 D805 (b) 5280
TheMLEof g for the populat10nw1thp a.f f(x)= -;—O_x$9

flx _1 o< Sograge oS FR0CRB ™ Ko SEI0S° 0 amg GRE
0 D 5

- H02HD oD

19.

20.

21.

(8)c & _ () Median
- ; m(‘:)éﬁém
©  X@ , @ ¥ '

A characteristic function corresp.onding to a distribution which is symmetric
above zero 18
BITROgD BIn @%é?p_:é HeTresRn G30E); erEEds [0 0302300

(a) Unity . —(b) ‘Real
HEESHD TPIDA0

(© Infinity =~ | (@) Zero
e50BHH : %J%é;ﬁ.u

If the joint distribution of the random variables X and Y is BVN (0,011 ,p) the

correlation coefficient between X? and Y* is
Bod dir"csq)aaé Seoooen X 208d5» Y o &%, DooswE FafARS NSO

BVN(O 011, p) 258" X* 08a30 Y2 o S06 o 9TRow0s Krga%d00 De0d

@) P ' b) p°

@3 ' gyt =g

Students ¢ dlstrlbutmn is given by
STBOLS G0, ¢ DFTEVINN QDY TE

(a) dJames Bernoulli - : ()= G Snedecor |
E.SSJQ 53_501@ . : 23,&2&1357256?5"5 :
(¢ RA. Fisher — A' (d) W.S. Gosset

es6.5 356 . oo O 085



22.

23.

24.

25.

26.

The relation between (M) and variance (V) of Chi—square distribution with
n degrees of freedom is

n SEEOEEEn (10 3 D8 DerarHn @), D500 (M) 2805 98 38 (V) Sogye
0200200

(a M=2V b)) 2M=V
© M=V @ 3M=V

L.
N1-72

p =0 o33P, X =

If p=0 then X = Jn -2 is distributed as (in the usual notation) -

i

\!l—rz_

@ t,; , Byl
© Zna (G

Vn -2 @), dgresstn (Frpedes $osBH0eS®)

If the Random variable X takes all values in the interval (1,10) the random
variable is : 2L
28 ASEyDYE Hood X (1,10) &m0 @os850E™ 0) devdodn S5 KORS

&3 Hood

(a) Discrete (b) Degenerate
29 Boo® I HooR

(¢) Continuous A (d) = Binomial
VAN WOT3 8538 Weoed

If P(x = 2)=1, the corresponding distribution is
Plx=2)=1 @003, o708 50208093 dgresddn

(a) Binomial (b) Bernoulli
85 aa”&é‘)'

(¢) Degenerate (d) None of the above
&300 - PO EY

In a binomial distribution, mean is 3 and variance is 2. Then value of P 1s
2.8 B0 Deresionn Bk, D500 , 3 DB 9 38, 2 oD, P 9e0d |
(a) 2/3 ‘ : (b)y 1/3
@) 219 " (d) None of the above
PID 5



27.

28.

A minimum variance unbiased estimation 7), is said to unique if for any other
estimator 7, |

T! 8 JPT° a8 ODT° NI 1 @B SR D3 )8 DAY ©OIT> LD
&5

(@ V(T,)=Vv(T") b V(T)sV(T,)

©. V(T,)=v(T,) L@ V(T )+VT,)=0

If X,,X,,.....,X, is a random sample from Z\'T(B,crz) population, the M.L.E of
9 is sample | :
X, Xy X, @3 O°6yYE (386550 N(6,0°) S5m0 008 SRS S0,
6 BE); M.L.E &8 (98675520 G3008), '

(a) GM : (b) H.M
¢ AM % (d) Median
_ :)Jqﬁéﬁéa’ln

If f(x)=kx(1-x)0 <x<1is ap.d.f then the value of K is equal to

fx)=kx(l-x)0 < x <1 eRB 2 Sogrsg roSee (FHALH0. wovDS’ K @End),

e B FHTHIL
(a) 3 b) 4

(c) b ' (d 6

30. The variance of f(x)= - x* ‘e *'# x >0 is given by

ap® ;
.f(x)z J_lﬂ" x4 x> 0 Bo¥); 98
a -
@) b= .. (b af



31.

32.

33

34.

3.

If X,,.....X, is a random sample a ‘N(Q,Jz) population, then the sufficient
estimator of & 1is !

N(6,02) %50 2008 X,,..... X, & GST&yn)s (SOEFS550%0 YS9, 6 Bk,

SOmg) Rr0R5ER i
@ > X ® > X
© Y E-X) " @ s

Efficiency of sample mean as compared to median as an estimate of the mean
of normal population in percentage is

SRy SUERD BN BE BoBIMP, [BSETD HEHERNE 2O0ped,
BOETS B0c358050 Bk, ARG FEHS®

(a) 64 ' (b) 157
R : (d).” 315

Formula for confidence interval for the ratm of variances of two normal
populations is based on :

Dotk ey e By, D9y ANE @Y, DIFAD eoBsHD =
B0 B eSS

(a) T—distribution (b) Normal distribution
T— Dgrresdd ' ava'm:bé B TA AT NSV

() z* distribution (d) F-distribution
72 JerEddn . e F— Dgpeesidtn

Equality of two popﬁlation variances can Be tested by
Both §°570 D) YB0o DHTRHEEND SBG0WIH S IBEH TS

(a) - T-test (b) F-test
T- $8% F- 56%

€ Z—test (d) #*—test
7-58% poes

The mean of T in Wilcoxon signed ranké test under H, is given by
H, 2eidpdisyptd, 955265 Sog §%3 565 % T B, éoc;’)ém;&n

n(n + 1) (n % 1)
GEl O
© n(2n + 1) @ n(n —1)

4 - it 4



36.

38.

39.

40.

The mean of R in runs test under H, is given by

53y IBES® R Book); D500, H, es8000d3)e

2 : 2
@) g SR E
m+n “ m+n
ks 2mn mn
el e (d)
. m+n+1 m+n

~ Non parametric methods are based on
- OSTHAAD I BID SErEREHD

(a) Mild assumptions - (b) Strong assumptions
DO ESEYHD 2OD ESZySen

(c) No assumptions = . (d) Naoane of these
EI5LHen BY : B 5°)

An appropriate test statistic to test the signiﬁcaﬂce of observed correlation
coefficient is an application of ~

S99 B Howoes ki B, AYEBR $880wK 38N SO FrogEsn

DN BwE); e0HE3ERDw

(a) Normal distribution (b)  z*—Distribution
DB DETRHNN . ‘ 77 e

(@) . T-Distribution (d) F-Distribution
T— 22580 ' F—9g70es800

For testing the Randomness of the observed data the appropriate test is
58800 Gy EBR $830HeE 5D HBY

(a) Run test (b) x* —test
83 984, | - -58%
(¢) Median test (d) Z—test
B065/16 S8, | : 7—58%

Chebyshev’s inequality is (K is any positive number)

IBDS 93708 (K J@m §5%5 S0y

@ Ple-p)z ka]zk% ®  Pllx-p)> ’w]'ﬁk%
(c) [(x -y ) > kc:r] < ]—12— (d) None
i

[ 5°)



41.

43.

44.

45.

s \2
X, and X, are two N (0,1) variables, what is the distribution of (X4 X,),

| (X, - X,
% 7 “ (Xl +X 2 )2 : ! .

X, 508050 X, 8ot N(0,1) Sevrieondhp ———2 Gool); gresdbsn

! . RSO
B ' (b) FQ1)
() S.N.V @ F(21)
Identify the odd item :
1Bo8 T70S° DOFEID TR H80BIH .
(a) T-test « (b)) p'—test

- T-58% 2> 585,
(c) F-test =<4 (d) Z—test

F-56% - 7584,

Data is important because it contains
$TroBa B SR Hothres HOD B0P§HI0IE

(a) Numerical values (b) Information -
Do DD | DHTER0 _

() Can be computerised (d) None of the above
Keard0%0|BEB0S0¢e) B9 E5)

The best non—parametric test for location measure is
LIDTDIBNHL BBgERD eHTBH S0

: (a) Median test - (b) Run test
Boegie S8, _ 8 H88
(¢) Maun —Whitney U—test (d) All the above
S0e0-9e3) U-56% Sl Sy S

95% confidence interval for mean pxin N (y,crz) populatfon when o is known

based on a random sample of size n, is given by
SBATER0 1, Ko oieyEyE B8ETERN emdinr N(u,o?) 6% o 2

BOVIIPE 1 B0E); 95% DFIONAD 90BDW

—1-645 | b .72-33
(a). x* = ( Lk Do
| +2.08— . d +1.96 —=
(o) &+ .rﬁ (i r gt _ =



46.

48.

49.

50.

Accepting H, when it is false is known as
D230 5°0 H, %0 90RE¥B0BE0 &8 ,
(a) Type—I—error (b) Type Il —error

25600 85 B°adw , BoES 85 %m0
(¢) Sampling error (d) Standard Error
BRETS [fres &°5:00 B VAN

The standard error of the difference of proportions (p;,—p,) in two classes
under the hypothesis H, : p;, p, with usual notations is

rpeSe Dotmred H,: p,p, & 388000 edodrare B0 (p,—p,) B0,
ERUARSSEY

(d) None
D 5%

Testing H, : £ =10 against H,: y#10 is a
H,: pu =10 &388%0me H, : u#10 S8§00cE0D8

(a)- Right tailed test | (b) Left tailed test
HESE Ko H8% DS Ko 50%

(¢) Two—tailed test : - (d) None of these :
Boch &%en Ko I8 : Y 3D 59

An estimate is

90VT® DV

(a) A function of sample observations (b) Parameter
BTP0B desd BE); [FA0aHw - ST

(6 u 5 d o

The relation between the probability distribution and its moments is:
502,3‘;55@" DPE3D B3 PIPBE ;53665{{@ D000
(a) Moments uniquely determine the distribution
SRR D2IPE3N00R) e9RICHRICRRNT SN R0
(b) Distribution is not uniquely determined by the moments
ARG SRR @R0SATHBOM E0RTHBD)
(c) First 4 moments determine the distribution uniquely
D003 4 HIrSEe) DPPEHBRY RITIITRB0NT EROR"HB
(d) w05 and uniquely determines the distribution .

1,0, B D85S £, Dgrresiitn enSHIPHRINT ER0RTR0K0.



o1l.

52.

53.

54.

55.

m.g.f. do not exists for
HSE TN EE (SD0aHH0R BOS B0 ;Q)oCiC&)

- (a) Poisson : : (b) Geometric
P00 oS 2§R0HAD
(c) Beta-—-1 (d) None of the above
Dege—] _ PIDS)

If Z is a S.N.V then Pﬂz| < 3] is equal t6

Z 28 @573 Frden D078 sty Pl < 3]

(a) 0.9973 | (b) 1.96
(0 0.95 : (d 1.98

In the sample of 900 observations with mean = 3.5 cm and S.D. = 2.61 cm, to
test whether the sample is from N(3.25,2.61) at 5% l.o.s, the decision is
900 deuden Ko 2.8 [HAEITHH B, V80 = 3.5 cm B0 EDIODH0

=261 c.m @ONI[PE 5% FYEERRoN HE @ (HAErSI0 N(3.25,2.61) SESw

B00& (froSddme? Br? H5680053p $E% DN DYAHDL

(a) Null hypothesis can be accepted
BR85S ©90REB0IDWN

(b) Sample does not give us any evidence to reject the hypothesis

S8R9 B8),B05065 [FAETSZ0 D DEGHH0 BIDoHE Bk
(¢) The null hypothesis can be rejected

’éf"éé SIGI{IIMNG @5}66805;5{533&)
(d) Test cannot be conducted -

58550 DEEroBSH0 |

»*distribution is a special case of the following distribution
77 dadan 808 deraddned” B8 (85 S5

(a) .. Normal (b) Gamma
(c) Poisson _ (d) Exponential
Do0NB°D ' - S0

If X,,......X, are SN.V.s the distribution of Y X7 is

i=1

Xy X, RIS 20r0e0 $007000053 Y X7 GBoo); Dgresisto

=1

(a) Normal . b))
EvplaRletar) = 7’

(¢) Cauchy (d) Gamma
=y §"§x ARV



56.

98.

59.

60.

If T is a sufficient estimator of @ and w/(T) is a one to one function of T, then

w(T) is : :
0% T e Sorgd eodar 08k T B, eRgsEauoin y(T) eansspcy w(T)
“ (a) Unbiased for y(6) (b) Consistent for (@)
w(8) .98 evoswr w(0) & JEED wodee
(c) Sufficient for w(0) (d) All the above
w(0) ol DRYAIW

What is the M.V.B estimator for y in the normal distribution N(,u,oz} where

o’ is known (in the usual notation)

o7 Devs BODIIPCL e dprasin N(uo?) & u Bwy, 5 9938 o

$82%8 09 2B? :
o

(b) logx

(@)  x
(c) xo (d) M.V.B estimator does not exists
(o) . = !

M.V.B 5333 48 o :JBanC)S SO YOLD

If x,x,,...x, denote a random sample of size n from a uniform population

with p.d.£ flx,6)=1, 5—15x59+%_m<9<m What is the MLE of 02

1

..4

- Q0B 0|3 Laf’nd‘i.)m f(x 6)=1 0~§<x<9+l—m<€<m m Ao

DS S50 Bod  Prodwdd n IBIreRn Ko Ariag B8 dm:m
Fpy Xgyennnn Xy D DIDOSDEIIPE 6 B00Y), KB S085H% eodmr NIAY; :

(a) Every statistic T such that x, '—é P x:) < Xa) + =

_ Xy == < T2y, %5,.,) < 2y +— R0 0EIIED (HS ArogED0 T
(b) *x

@ X

@ =x

If the - joint pmf wvalues of ‘X, ~and X, is given by
Py =0.5,p,, =0.2,p,; =0.1, p,, =0.2 the marginal density of X, is

X, 508050 X, GB0o%); $0050¥ (555 (oo @), deod

P =0.5,p,5 =0.2, py; =0.1, pyy, = 0.27 FIREIIPE X; BooE); &0 Jro|Sden

(@) p,=06p, =04 (b) p,=0.7p,=0.3

© p=05,p,=0.1 (d) “p = 0.2.,1::'2 = 0.2

A random variable is

s o:b*c:ﬁgq)é oo

(a) Point function (b) Measurable function
DO 0080 JeHDADH [FR0oHBW

(¢) Set function (d) None of the above

DY (FODED | VOIS



61.

62.

56

64.

65.

The number of all possible samples of size n from a popﬁlation of N units

- without replacement are

N 583redn Ko 28 S&%dwn 2008 n SBITESD Ko SO DEYD [BAEITFH0
ARSI ST Jog

(a) N e by N
e)Eeaml 5 d NC,

In a SRSWR a sample of size 3 is selected from a population of size n what is

the probability that the sample consists of two different items (e e

S83esB) n Ko S5 00D 3 IBIrEHH Ko 28 SRSWR (HOS7550 JodE
DADDEIB. & (9B EI50S® o DY SNDew IR Hotk Jogrdgh Jod? . -

o) ‘%ﬁv =) @ 2l
1 - (NZY 1[N -2)
(c) N (d) N? _

In a sample survey, the houses having numbers 50,60,70,80 are selected the
sampling technique adopted was

2.8 [SBETS Ke3dS” 50,60,70,80 Sopse Ko R0k BAHVEDD. A0E) JoDE DAL
055801‘1):6 QRBETD Ks:aé adﬁ@

(a) SRSWR ey (b) SRSWOR
SRSWR - SRSWOR

(c) Stratified (d) Systematic
58@.‘9 S anblatad

Probability 1nclud1ng a spemﬁed unit of a population of N units in a SRSWOR
of n units is

N 5835089500 Ko 2.8 STE30SD 2.8 soeé 0507550 1 036:1)‘892{133 Ko SRSWOR £

ARYE 062K Fogrisgd
n N
(a) ? ®)
1
(c) ﬁ | (d) o

If V,,V,,V, are the variances of the stratified mean (7,) under random

sampling proportional allocation and optimum allocation respectively then
which one of the following is true

oir"cﬁq)&ag (PDDETS Keard adﬁ@ 90 BETP0V05) BRI Eﬂ@@)nli%di) @eJ“cmoog)e;\eS‘s :
£68, Soeg 33 yeoen :.semno v;,m,v3 ©oHS’, &4 1808 TOS* A8 dwH0?
(a) s el e b)) V<V <V,
(e} Vo=V <V ' (el <V <V



66.

67.

68.

69.

70.

Simple random sample can be drawn with the help of
DBE OISy (AT (808 DAHWED T3S B IFADHNE” DdYST0t?

(a)l Random numbers (b) Lottery method
QSTyDYE Bogen © e DK

(¢) Roulette’s wheel (d) All the above
3°Bed HEDW et s 293

If a random sample of n units is selected from an infinite population with
variance o then the standard error of the sample mean is

9938 o7 Ko 8 @5Bs 6650 $08 n ey Ko 2.8 ISR (FAETH500%

DRYER0D (HAEIT D850 B0k ERE S0
(ay o : (b). cin

© o*ln d) %

Replication in an experiment means
BBIHE0SED HIToS e
(a) Number of times a treatment occurs
@@J‘KR’)JJ@G 2.8 &STEHR0 H0EID0B oy
(b) Number of plots
TR V0
(¢) Numbers of treatments
EITTO DO v

(d) Number of blocks

DOT°®) ‘é.’)oa)§

In two way classification of m treatments and n variates the variance ratio of

treatments is (in the usual notation)
m &S558 0805w n SEen Ko Bgds éegéeaéwe?s E5D9BE00 B,

23 )8 AR, (Fpeve HOEBRHRVOS’)

ssT - - MSSE
@ ?SE e ®)  ssT

n—1)(SST o geT
©  {m-1)(SSE) @ 78S

The difference between sample estimate and population parameter is known
as :

BB o BN S STed Do 2365500

(a) Formula error ~ (b) Non sampling error
UL ARSI ' BPBEIS fres &H
(c) _Sampling error _ (d) Human error

(SBETS s B°HA0 HreH 8%0d00



73.

4.

75.

Identify the correct statement
DBAA [PBFEIN BB

(a) Sampling errors can occur in census and sampling survey
PAES &'Sdooen D0P"E Heard A0 B0BA D B3 Meard Ao

EeuRHB0y0

(b) Non sampling errors can occur in census and sampling survey
eﬂ@@df’é &' aH0e e et erslelat B0 (DAEITD Heand A0
L0580y

(¢) Preferential sampling is also called probability sampling
DRSS (HBETS e SEBR BogrSgEe Kead IFS GRET G ©oBIL.

(d) Census survey is always better than sample survey
DOI°Y e JYDTL® FAETD Keard E0&3 oK.

If X is a SNV, E|X] is approximately equal to
X 2.8 2007638 rgreden H00°8 @0nddpt, E|X| &eranode Jo8?

(a) 2/3 | b) 1
(c) = -4/5~ : (d) None of the above
' DIV

If 012 and 0“22 are error variances of designs I and II then the efficiency of
design I over design II is

gB%e0 I 0805w 11 © Bw¥), &Q 3 e 0" DBAw 0," e o 853 11 PP
853 T @), 08500

2 2 : 2 2
(@) w0y, +0o, : ) =i

© o0y @ o, o

Randomization is a process in which the treatments are alloted to the

" experimental units

ot’méabl)ggdm 518aHS° ESTrTroy Luxfo‘“r‘( ARIPRRE BeTro0otsd e (808

TP IPEILB _
(a) At the will of the investigator  (b) In a sequence

FEEHE agdn - DB e
(¢) With equal probability s (d) With unequal probability
DI Jogrgd : ORI Sogrdy®

In CRD w1th t treatments and n experimental units, error degrees of freedom
is equal to

(~&5T07e0 580500 1 (SEBITTEE de) Ko CRD 56 E°Q Sgzrargosen

@ n+it—1 (b) n—t—1
© n—-t+1 o Ay gy



=76

80.

ARBD has _
2.8 QITey Y O 859

(a) One—way classification (b) Two—way classification
DEETD HBEBEa0 BT HBEBean

(c) Three—way classification (d) No classification
B DBEBeaDD derotd HEBeDBE

The ratio of the number of replications required in CRD and RBD for the same
amount of informationis

28 $57°7°0°98 CRD 50800 RBD 6% 5908ys00 Sogse Ghng, 8

() 6:4 - ®) 10:8
(¢ 10:6 _ ' (d) 6:10

Error in statistical model are always taken as
A0gE BRTT S E'aren s

(a) Independent | (b) N(O, o'ez)
SINaTe][323NV IOV ;
(¢) Both (a) and (b) (d) Neither (a) nor'(b)

(a) 508050 (b) e (2) o5 805 (b) 55

Ina 2* factorial experiment, number of treatment combinations is
2.8 25788 (HABIrKHANS® &5988 SodIrKHRve D03y

(a) 16 : ; (by 24
(@) =215 (d 32

I_f we have a sample of size n from a population of N units, the ﬁhite
population correction is

N cSorRen Ko S%H0 o0& n 580 R0 Ko ([H8EFHH0 JHYEAD 5808 &% -

$58e de0S
N-1 g n-1

(a)l N (b) N
N-n N-n

(c) N : (d) =



81.

83.

84.

85.

86.

Most frequently used index number formulae are

Trer BEDOT T°6 DI°D S0y AI° (B

(a) Weighted (b) Unweighted
2PBBHI = 29272850

(c) Fixed weight ~(d) None of these
R BB _ CRIEN)

Combining of two index number series having different base periods into are
series with common base period is known as

T T8 Sosnen Ko 8ot SrdIoe FEnod 28 eees S Ko [%s% S8
oS00

(a) Splicing : : (b)’ Base shifting
 ©9%ogenesa _ C o eps 0ehye
(¢) Both(a)and (b) : (d) Neither (a) nor (b)
(a) 5805 (b) (a) 57655 208050 (b) 526

Passche’s quantity index formula with usual notation is
DS DOSTOS® ey HBHITEd BIPVE P EH0

Gy 22 o b L% 100
2Poq0 : qu%

© 290,100 @ 229,100
Ipig, : , b oXe

The number of components in a time series 1s
2.8 SPOERS"D WOTO PO '

(a) 4 ' (b2 2
() I . (=3

Fisher’s ideal formula does not satiéfy
o235 e5058) D@00 S 1808 T é@)é‘étﬁédi)

(a) Time treversal test (b) Circular test
so0 Q5°HH0D S8 80 H8%

(¢) Factorial reversal test (d) Unit test
o858 BB KH0D H0Y, ' afor=Re H8

The geometi'ic mean Laspeyre s and Paasche’s price indices is known as
e°:3)0500 H08asw o0 580 DIeD¥ SICENN SR A bARY

(a) Kelly's price index - (b)- Fisher’s price index
39§80 08 \ 238 80 Jr08
(c) - Walsh price index (d) Bowley’s price index

TS 80 0¥ . | ) S0 J°28
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89.

90.

ol

The general decline in sales of cotton clothes is an example for

605 Koo @Z})ésveé% Lhelal) B8 &mrirdendn

(a) Seasonal variation (b) Cyclical variation
2008 VSIS ‘ S8 8ead0

(¢) Trend (d) Irregular variation
P8 _ BB DDHGEIN0

The component of a time series attached to long term variations is termed as

B8 DH58ET0% HoWOGOoID STORBS QO ©0FIN

(a) Trend (b) Irregular variation
BHS 15087 D80

(¢) Seasonal variation e (d) Cyclical variation
20008 VS0 HEDH DDHBeadw

The relation between expected value of R and standard deviation, o with
usual constant factor is

A klelar! eSS, R o?mgb L9800 DD :»8@5.15 1E0DBO o ;'aaqs;) f‘fe)

020000 )
(@) E(R)=do (b) E(R)=d,o
© ER)=Do - (d) E(R)=D,o

Most preferred type of average for index numbers is

2D HoRS® I, BT TE HovH8

(a) Mean (b) Median
' 2606555)3;501) : Z)Jéﬁg’ﬁééﬁw

() Mode ; : : (d) Geometric mean
EPTOTED0 25 RBAD SR

Simple average method is used to calculate

RreSEs BB BB Se BB 0D KEB0B0eIED T

(a) Trend values : (b) Cyeclic variations
 [55y8 Devden ' | S8as 938eren
(c) Seasonal variations (d) - Irregular variations

220080 DHEETLD EETE DeTen



92.

93.

94.

95.

96.

Variation due to assignable causes in the product occur due to
2.8 DNHSD DG S ($BgE s°8eTen

(a) Faulty process (b) Careless of operators
&858 (518 I0E) @[3

(c) Poor quality Qf raw material (d) All the above

B D e Mo BOETTEID | poed

Error sum of squares in RBD as compareci to CRD using the same data is
28 &Serow08 CRD & 259y RBD &% &% Stre 2n0gsn

(a) Equal : (b) More
BRI B Y 50

(¢) Less | (d). Not co'mpaﬁble
BEND SESNGREE

Paasche’s price index formula with usual notation is

e Soszres’ -;‘jnixéééo RIPDE W00
4

@ P9 00 | &) 2Py
2Doq, , ZPGQ(J

0 % 360 B @ 2%, 00
P, Zpq,

Testing for two population proportions , we use
B0t §°5°0 RTT R SB80BEIL e TBEL TR

(a) T-test : (b) F—test

©T-%88 F-58%8
(c) Sign test - : (d) Z-test
Sogg 96, | Z-58%,

The central mortality rate m, in terms of g, is given by the formula

SoBa So8Bew m, K g, & SR

2q ; 2q.
( ) 7 ¥ b X
= (2 1 q.l) ' ( ) (2 % qx)
( ) q.‘t 1 . d ; qx
2 Prg) & (2-q,)



97. The probability of living of a person in the age group x to (x+n) can be

obtained by the formula _
x 208 (¥ +n) SAHRY SRTTHNS” B0 2.8 D GBoo¥); HogTIgHR Fe A EHD

o°go° 5&’1)5'“2():):).)‘3:&)

(a)

F (b)

x x+n (d)

98. Vital statistics is maiﬁly concerned with
o) Rrog)ss FJ0 808 T3S Ho20B0IVE

(a)

(©

Births. (b)
230D :
Marriages (d)
DT

Deaths
0T

All the above
Q& eaﬁ)cl

99. The probability g, of dying of a person between the age interval x and (x + 1)

and m, the central mortality rate are related by the formula

x 0B (x+1) HODRY) LoBEHINES® 2.8 Jf B0 Jogrdgd g, Bakw SoBaH

;’)3553&1) m, S0¢5Ke 502205000 3 AP0

(a)

()

(b)

q, =m (d)

e
%= (2 + m,x)

m,

o (1+2m,)

100. The death rate obtained for a segment of a pdpulation is known as
2% S50 0% b cﬁlﬁb 08 Bew o?.mgb DS

(a)

(c)

Specific death rate (b)
D& H08es Bew :
Standardized rat-e (d)
003 Bewo

Crude death rate
J0BE H08es Bew
Vital index
BR0gHED QDY




